ANGEL’S PUBLIC SCHOOL
SAMPLE PAPER

HALF YEARLY EXAM  SESSION 2024 - 25

CLASS - |

TIME: 3 HRS SUBJECT : MATHEMATICS M.M:80
NAME - ROLL NO -
1. Fillin the blanks:- (8)
(@)4+1= ()5-3=
(b)8+0= (e+0=
()1+5=____ (9)9-2=
(d)3-3= (h)8-8 =
3.Add on the number line: (2)
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4. Subtract using number line:
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3. Fill in the blanks:-
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(@) 2tens + 15 ones= _tens + 50nes
(b) 5tens + 19 ones = tens + 9 ones
(c)6tens + 18 ones =7 tens + ones
(d) 5 tens + 14 ones = tens + 4 ones.
(e)4tens+120nes=5tens+__ ones

(f) 7tens +17 ones =

tens + 7 ones

v

(12)



5. Write the number as shown by the abacus:

(a) (b)

6. Add by expanding:-
(@ 55

+3 2

7. Subtract by expanding:
(@) 87

-12

(b)68
13
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tens + ones

tens + _ ones

(10)




8. Problem Sums:- (8)
(@) In a class, there are 18 boys and 31 girls. Find the total number of students in the class.
TO
1 8

+ 2 1

(b) Rahul has 63 yellow balls and 14 blue balls. How many balls does he have in fotal?
TO

6 3
+1 4

(c) I have 45 pencils and my sister has 55. How many pencils does my sister have more than me.
TO
55

~45

(d) 45 ducks were swimming in pond. If 22 of them came out How many ducks are sfill swimming in the

pond.
TO
45
-22
9. Find the sum of the following (7)
(@ TO (b)TO (c)TO (d)TO
20 55 8 2 60
+ 12 +24 +1 3 +22
(e) TO f TO (9 TO
41 2 6 60
+ 12 +13 + 30



10. Subtract of the following

(@To
85
-22

(b)TO

24

()TO
5 8
-2 3

11. Regroup and add the following. (Carry over)

(9)
(a)TO
3 6

(b)TO
78

12. Regroup and subtract the following. (borrow sums)

(@ TO
52
-23

13. Dodging Tables.
(@)3x6=
(d)4x7=
(9)5x5=

()4x3=

(b) TO
93
-18

(b)6 x7 =
(€)2x9=
(h)5x2 =

(k)6 x9=

(d)TO )T O
6 2 8 4
- 11 - 44
(€)TO (d)TO (d)TO
27 46 29
+37 +45 +69
()
(c)TO (d)TO €)TO
44 6 2 80
-19 -24 -37
(12)
(c)2x6=
(f) 5x 8=
(i)6x5=
(L)3x9=



